EARAROBREBRT —5 XN—ZXBISH—F

202445888 (K) 20 11IE3H

12R

2024)IIB)JSC C2 U5R—1K

\(9&1@1 = ‘[%EH%F&] | & 100 =

[AE%] 1 7% :1,000,000 § ~ 237 :400,000 @  37&:250,000 3  43&:150,000 @ . 5 3&:100,000 M

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= s 4 | HEES 1:31.8 4-4-3-1 | 40.7| - 6 | 438 |LUisfEt (1)
118113 AF30 K 54.0 - © |TEERE
RibkoO—ILR B:7IHIS it R
W i 5 | UMEEE 1:32.9 6-5-6-3 |41.6| - 4 | 383 |/\KEZ (B
EH 3| AUvY 54.0 () ¢s) | LRAE
RiVEWIF— BFRSTA RE FRB
~ ) SNy~ it 4 | SEHBW 1:32.9 11-10-9-7 | 40.7 | - 1 487 | BES— (IIE)
31814| FA—5TVVT 5.0 e oy | KEE
R:O—IVRFI9— B:FIYISTVYVT RIS
g ft 5 | GESH 1:33.4 10-8-7-5 |[41.6| — 9 489 | LLEBEE ()11%)
457 | PREAFRE 50 G vy | B nEm
RiVPRIVIA B:IIARN INI T7—Ls
N . FHIEH : -1-1- - WEE (1)
5 6| H—ILZRU—L it 4 e 1(.13/32.)5 1-1-1-2 | 43.2 5 (4_023) E;}[&é;
RiT7AV=Z—R)L &:7Uav—Ya 75 RS
N BERE : -9-10- - HiEE— (1)
6171121 /—FIWIvvT R 1'(323)'9 AL 0 3_159) EAMRE
RNT B:DF0SA A0 40T T 4—)L RS
» — >~ o6 | NEHR 1:34.2 13-12-13-13| 41.0 | — 7 | 478 | J\KIZ (N
71111 /=TWFvr=FY A53.0 a1/ Cn) | SASE B
R:TSvIIALR B:EY/IE— RIS
S~y N P {EERER : -12-12- - JAKRZ (1)
8 5 | yuRuE— v 8 e 1(.33/44.)3 12-12-12-11| 41.3 8 ig; s )
RiN40 #B:9IE—/ HFEKIS
= I\MRERTE :35. -6-5- . - kSR (1)
9 4 BT B4 *52.0“ 1(335)0 5-6-5-8 | 43.6 11 (4319) iigea
Ry I7—Y— B:Y—J7—I7 BtEI7—LA
S S — 4 5 | EME 1:35.1 3-3-3-5 |44.1| — 3 509 | BAE— (R
1000 5 | 7'y BAqO 54,0 20) *3) SOIEA
R:FvINAO0— B:EvItA5— RAZ7—LA
On )0~ [FEESEag= : -11-11- - BEHOE (E
M . B2 R 7. T M e e
R:IAYVEAY BIAIIUATH RERIS
S ~ s 4 | WiEHT 1:35.6 2-2-2-4 | 45.0| - 2 | 473 | FHE— (&)
12081 7Iv¥aXy 5.0 & EL i
RPAUAYRA NUFw b 8 A Rf— RE MER
S= J)°— 4 4 | PEBA 1:36.5 7-7-8-10 | 44.5| — 13 | 398 |HEF— (&)
13/5]8 | N=/N )17 54.0 () 3 | ) fm
REVFOVY B:ITUALRATIVD—R N L5805
~, LS — - - - - — | BHAE (1R
« N4 10 EEVAZO—- - 51 (-) |dExE
R:iTJUA—=Y #:MURUR—F— il SER
@ 11— —BRIEfI
13—7F— 6,11,5,13,4,3,8,12,9,7,14,2,1
20— — 6,11,5,13,3,4,8,7,12,14,9, (1,2)
IT=5r= 6,11, (5,13),4,3,7,8,14,12,9,2,1
43— — 13,6,3,11,(5,7) ,14,4,12,8,2,9,1
0 ILRE
BB 13 1,510 JA R 3-13 1,200/ & 3-8 1,020 3ER 3-13-14 3,480
B B 13 340 13-14 600/ (=] 8-3 1,960 3Es 13-3-14 34,3504
3 270 3-14 580 B E 3-13 4,820
14 190 =51 13-3 11,210

ABIC OV TRUTEREERRODDZE. THRIIZEL.




